

# Subgroup Distortion in Wreath Products of Cyclic Groups

Tara Davis, Alexander Olshanskii

Centre Recherche Mathematiques  
Workshop on Equations and First-Order Properties in Groups  
Montreal, Canada

October 14, 2010

# Subgroup Distortion

## Definition (Gromov)

For a finitely generated group  $G = \langle T \rangle$  and a f.g. subgroup  $H = \langle S \rangle$ , the distortion function of  $H$  in  $G$  is

$$\Delta_H^G(l) = \max\{|w|_S : w \in H, |w|_T \leq l\}.$$

# Subgroup Distortion

## Definition (Gromov)

For a finitely generated group  $G = \langle T \rangle$  and a f.g. subgroup  $H = \langle S \rangle$ , the distortion function of  $H$  in  $G$  is

$$\Delta_H^G(l) = \max\{|w|_S : w \in H, |w|_T \leq l\}.$$

- For  $f, g : \mathbb{N} \rightarrow \mathbb{N}$ , we say that  $f \preceq g$  if there exists an integer  $C > 0$  such that

$$f(l) \leq Cg(Cl + C) + Cl$$

for all  $l \geq 0$ .

# Examples of Subgroup Distortion

- The cyclic subgroup  $H = \langle c \rangle_\infty$  of  $\mathcal{H}^3 = \langle a, b, c \mid [a, b] = c, [a, c] = [b, c] = 1 \rangle$  has quadratic distortion.

# Examples of Subgroup Distortion

- The cyclic subgroup  $H = \langle c \rangle_\infty$  of  $\mathcal{H}^3 = \langle a, b, c \mid [a, b] = c, [a, c] = [b, c] = 1 \rangle$  has quadratic distortion.



$$c^{l^2} = [a^l, b^l]$$

# Examples of Subgroup Distortion

- The cyclic subgroup  $H = \langle c \rangle_\infty$  of  $\mathcal{H}^3 = \langle a, b, c \mid [a, b] = c, [a, c] = [b, c] = 1 \rangle$  has quadratic distortion.



$$c^{l^2} = [a^l, b^l]$$

- The cyclic subgroup  $H = \langle a \rangle_\infty$  of  $\text{BS}(1, 2) = \langle a, b \mid bab^{-1} = a^2 \rangle$  has exponential distortion.

# Examples of Subgroup Distortion

- The cyclic subgroup  $H = \langle c \rangle_\infty$  of  $\mathcal{H}^3 = \langle a, b, c \mid [a, b] = c, [a, c] = [b, c] = 1 \rangle$  has quadratic distortion.

$$c^{l^2} = [a^l, b^l]$$

- The cyclic subgroup  $H = \langle a \rangle_\infty$  of  $\text{BS}(1, 2) = \langle a, b \mid bab^{-1} = a^2 \rangle$  has exponential distortion.

$$a^{2^l} = b^l a b^{-l}$$

# Wreath Products

Let  $A$  be finitely generated abelian.

- Then  $A \wr \langle b \rangle_\infty$  is the semidirect product  $\bigoplus_{i=-\infty}^{\infty} A(b^i)\lambda\langle b \rangle$ .



# Wreath Products

Let  $A$  be finitely generated abelian.

- Then  $A \text{ wr } \langle b \rangle_\infty$  is the semidirect product  $\bigoplus_{i=-\infty}^{\infty} A(b^i)\lambda\langle b \rangle$ .
- The group  $\bigoplus_{\mathbb{Z}} A$  is often denoted  $W$ . The action of  $\langle b \rangle$  by conjugation defines multiplication in the wreath product:

$$(b^{k_1} w_1)(b^{k_2} w_2) = (b^{k_1+k_2})(b^{-k_2} w_1 b^{k_2} w_2).$$

# Wreath Products

Let  $A$  be finitely generated abelian.

- Then  $A \text{ wr } \langle b \rangle_\infty$  is the semidirect product  $\bigoplus_{i=-\infty}^{\infty} A(b^i)\lambda\langle b \rangle$ .
- The group  $\bigoplus_{\mathbb{Z}} A$  is often denoted  $W$ . The action of  $\langle b \rangle$  by conjugation defines multiplication in the wreath product:

$$(b^{k_1} w_1)(b^{k_2} w_2) = (b^{k_1+k_2})(b^{-k_2} w_1 b^{k_2} w_2).$$

- Let  $A$  have presentation  $A = \langle Y | R(Y) \rangle$ . The group  $A \text{ wr } \mathbb{Z}$  has presentation given by generators and defining relations

$$\langle Y, b | R(Y), [y, b^{-n} z b^n] : y, z \in Y, n > 0 \rangle.$$

# Wreath Products

Let  $A$  be finitely generated abelian.

- Then  $A \text{ wr } \langle b \rangle_\infty$  is the semidirect product  $\bigoplus_{i=-\infty}^{\infty} A(b^i)\lambda\langle b \rangle$ .
- The group  $\bigoplus_{\mathbb{Z}} A$  is often denoted  $W$ . The action of  $\langle b \rangle$  by conjugation defines multiplication in the wreath product:

$$(b^{k_1} w_1)(b^{k_2} w_2) = (b^{k_1+k_2})(b^{-k_2} w_1 b^{k_2} w_2).$$

- Let  $A$  have presentation  $A = \langle Y | R(Y) \rangle$ . The group  $A \text{ wr } \mathbb{Z}$  has presentation given by generators and defining relations

$$\langle Y, b | R(Y), [y, b^{-n} z b^n] : y, z \in Y, n > 0 \rangle.$$

- In particular,  $\mathbb{Z} \text{ wr } \mathbb{Z} = \langle a, b | [a, b^{-n} a b^n] \rangle$ .

# Word Metric [Cleary, Taback]

- Arbitrary element in  $\mathbb{Z}^k$  wr  $\mathbb{Z} = \text{gp}\langle a_1, \dots, a_k, b \rangle$  is of the form

$$b^t w = b^t \prod_{i=-\infty}^{\infty} (a_1)_i^{m_{i,1}} (a_2)_i^{m_{i,2}} \cdots (a_k)_i^{m_{i,k}},$$

where  $(a_j)_i = b^{-i} a_j b^i$ .

# Word Metric [Cleary, Taback]

- Arbitrary element in  $\mathbb{Z}^k$  wr  $\mathbb{Z} = \text{gp}\langle a_1, \dots, a_k, b \rangle$  is of the form

$$b^t w = b^t \prod_{i=-\infty}^{\infty} (a_1)_i^{m_{i,1}} (a_2)_i^{m_{i,2}} \cdots (a_k)_i^{m_{i,k}},$$

where  $(a_j)_i = b^{-i} a_j b^i$ .

- Arbitrary element of  $A$  wr  $\mathbb{Z}$  may be written in a normal form as

$$b^t (u_1)_{\iota_1} \cdots (u_N)_{\iota_N} (v_1)_{-\epsilon_1} \cdots (v_M)_{-\epsilon_M}$$

where  $0 \leq \iota_1 < \cdots < \iota_N, 0 < \epsilon_1 < \cdots < \epsilon_M$ , and

$u_1, \dots, u_N, v_1, \dots, v_M$  are minimal length representatives of elements in  $A - \{1\}$ .

# Word Metric [Cleary, Taback]

- Arbitrary element in  $\mathbb{Z}^k$  wr  $\mathbb{Z} = \text{gp}\langle a_1, \dots, a_k, b \rangle$  is of the form

$$b^t w = b^t \prod_{i=-\infty}^{\infty} (a_1)_i^{m_{i,1}} (a_2)_i^{m_{i,2}} \cdots (a_k)_i^{m_{i,k}},$$

where  $(a_j)_i = b^{-i} a_j b^i$ .

- Arbitrary element of  $A$  wr  $\mathbb{Z}$  may be written in a normal form as

$$b^t (u_1)_{\iota_1} \cdots (u_N)_{\iota_N} (v_1)_{-\epsilon_1} \cdots (v_M)_{-\epsilon_M}$$

where  $0 \leq \iota_1 < \cdots < \iota_N, 0 < \epsilon_1 < \cdots < \epsilon_M$ , and

$u_1, \dots, u_N, v_1, \dots, v_M$  are minimal length representatives of elements in  $A - \{1\}$ .

- The length is given by the formula

$$\sum_{i=1}^N |u_i|_A + \sum_{i=1}^M |v_i|_A + \min\{2\epsilon_M + \iota_N + |t - \iota_N|, 2\iota_N + \epsilon_M + |t + \epsilon_M|\}.$$

## Main Theorem

## Theorem

Let  $A$  be a finitely generated abelian group.

- 1 For any finitely generated subgroup  $H \leq A$  wr  $\mathbb{Z}$  there exists  $m \in \mathbb{N}$  such that the distortion of  $H$  in  $A$  wr  $\mathbb{Z}$  is

$$\Delta_H^{A \text{ wr } \mathbb{Z}}(l) \preceq l^m.$$

- 2 If  $A$  is finite then  $m = 1$ .
- 3 If  $A$  is infinite, then for every  $m$ , there is a 2-generated subnormal subgroup  $H$  of  $A$  wr  $\mathbb{Z}$  having distortion function

$$\Delta_H^{A \text{ wr } \mathbb{Z}}(l) \approx l^m.$$

# Free Metabelian Groups

- What effects of subgroup distortion are possible in free solvable groups?



# Free Metabelian Groups

- What effects of subgroup distortion are possible in free solvable groups?
- The membership problem for free solvable groups of length greater than two is undecidable. [Umirbaev]

# Free Metabelian Groups

- What effects of subgroup distortion are possible in free solvable groups?
- The membership problem for free solvable groups of length greater than two is undecidable. [Umirbaev]
- Distortion in free metabelian groups is similar to that in wreath products because if  $k \geq 2$  then  $\mathbb{Z} \wr \mathbb{Z} \leq K_{k,2} \leq \mathbb{Z}^k \wr \mathbb{Z}^k$ .

# Free Metabelian Groups

- What effects of subgroup distortion are possible in free solvable groups?
- The membership problem for free solvable groups of length greater than two is undecidable. [Umirbaev]
- Distortion in free metabelian groups is similar to that in wreath products because if  $k \geq 2$  then  $\mathbb{Z} \wr \mathbb{Z} \leq K_{k,2} \leq \mathbb{Z}^k \wr \mathbb{Z}^k$ .
- Every finitely generated abelian subgroup of  $\mathbb{Z}^k \wr \mathbb{Z}$  is undistorted. [Guba, Sapir]

# More Motivation

- There are distorted embeddings from the group  $\mathbb{Z} \wr \mathbb{Z}$  into itself as a normal subgroup.

# More Motivation

- There are distorted embeddings from the group  $\mathbb{Z} \wr \mathbb{Z}$  into itself as a normal subgroup.
- For example, the map defined on generators by  $b \mapsto b, a \mapsto [a, b]$  extends to an embedding, and the image is a quadratically distorted subgroup.

# More Motivation

- There are distorted embeddings from the group  $\mathbb{Z} \wr \mathbb{Z}$  into itself as a normal subgroup.
- For example, the map defined on generators by  $b \mapsto b, a \mapsto [a, b]$  extends to an embedding, and the image is a quadratically distorted subgroup.
- The group  $\mathbb{Z} \wr \mathbb{Z}$  is the smallest metabelian group which embeds to itself as a normal distorted subgroup:

# More Motivation

- There are distorted embeddings from the group  $\mathbb{Z} \wr \mathbb{Z}$  into itself as a normal subgroup.
- For example, the map defined on generators by  $b \mapsto b, a \mapsto [a, b]$  extends to an embedding, and the image is a quadratically distorted subgroup.
- The group  $\mathbb{Z} \wr \mathbb{Z}$  is the smallest metabelian group which embeds to itself as a normal distorted subgroup:
- For any metabelian group  $G$ , if there is an embedding  $\phi : G \rightarrow G$  such that  $\phi(G) \trianglelefteq G$  and  $\phi(G)$  is a distorted subgroup in  $G$ , then there exists some subgroup  $H$  of  $G$  for which  $H \cong \mathbb{Z} \wr \mathbb{Z}$ .

# Constructing 2-generated distorted subgroups in $\mathbb{Z} \wr \mathbb{Z}$

- In the case of  $\mathbb{Z} \wr \mathbb{Z} = \langle a \rangle \wr \langle b \rangle$ , we use module language to write any element as

$$w = af(x) \text{ where } f(x) = \sum_{i=-\infty}^{\infty} m_i x^i$$

is a Laurent polynomial.



# Constructing 2-generated distorted subgroups in $\mathbb{Z} \wr \mathbb{Z}$

- In the case of  $\mathbb{Z} \wr \mathbb{Z} = \langle a \rangle \wr \langle b \rangle$ , we use module language to write any element as

$$w = af(x) \text{ where } f(x) = \sum_{i=-\infty}^{\infty} m_i x^i$$

is a Laurent polynomial.

## Lemma

*Let  $m \in \mathbb{N}$ . For any  $l \in \mathbb{N}$  let there be polynomials  $f_l(x) \in \mathbb{Z}[x]$  such that the sum of modules of coefficients of  $f_l(x)$  is equivalent to  $l^m$ , while the sum of modules of coefficients of  $g_l(x) = (1-x)^{m-1}f_l(x)$  is at most linear in  $l$ . Then the subgroup  $H$  of  $\mathbb{Z} \wr \mathbb{Z}$  generated by  $w = a(1-x)^{m-1} \in W$  and  $b$  has distortion  $\Delta_H^{\mathbb{Z} \wr \mathbb{Z}}(l) \asymp l^m$ .*

# Constructing 2-generated distorted subgroups in $\mathbb{Z} \wr \mathbb{Z}$

- The proof of the Lemma is easy. The hard part is constructing the polynomials.

Constructing 2-generated distorted subgroups in  $\mathbb{Z} \wr \mathbb{Z}$ 

- The proof of the Lemma is easy. The hard part is constructing the polynomials.
- Let  $f_l(x) = \sum_{i=0}^l a_i x^i$  and  $g_l(x) = \sum_{i=0}^{l+m-1} b_i x^i$ .

# Constructing 2-generated distorted subgroups in $\mathbb{Z} \wr \mathbb{Z}$

- The proof of the Lemma is easy. The hard part is constructing the polynomials.
- Let  $f_l(x) = \sum_{i=0}^l a_i x^i$  and  $g_l(x) = \sum_{i=0}^{l+m-1} b_i x^i$ .
- Consider  $H = \text{gp}\langle b, w = a(1-x)^{m-1} \rangle$ . Then  $H \cong \mathbb{Z} \wr \mathbb{Z}$ .

# Constructing 2-generated distorted subgroups in $\mathbb{Z} \text{ wr } \mathbb{Z}$

- The proof of the Lemma is easy. The hard part is constructing the polynomials.
- Let  $f_l(x) = \sum_{i=0}^l a_i x^i$  and  $g_l(x) = \sum_{i=0}^{l+m-1} b_i x^i$ .
- Consider  $H = \text{gp}\langle b, w = a(1-x)^{m-1} \rangle$ . Then  $H \cong \mathbb{Z} \text{ wr } \mathbb{Z}$ .
- We have that

$$wf_l(x) = w_0^{a_0} w_1^{a_1} \cdots w_l^{a_l}$$

is in normal form, so  $|wf_l(x)|_H = \sum_{i=0}^l |a_i| + 2l \approx l^m$ .

Constructing 2-generated distorted subgroups in  $\mathbb{Z} \wr \mathbb{Z}$ 

- The proof of the Lemma is easy. The hard part is constructing the polynomials.
- Let  $f_l(x) = \sum_{i=0}^l a_i x^i$  and  $g_l(x) = \sum_{i=0}^{l+m-1} b_i x^i$ .
- Consider  $H = \text{gp}\langle b, w = a(1-x)^{m-1} \rangle$ . Then  $H \cong \mathbb{Z} \wr \mathbb{Z}$ .
- We have that

$$wf_l(x) = w_0^{a_0} w_1^{a_1} \cdots w_l^{a_l}$$

is in normal form, so  $|wf_l(x)|_H = \sum_{i=0}^l |a_i| + 2l \approx l^m$ .

- In the generators of  $\mathbb{Z} \wr \mathbb{Z}$ , we have that

$$wf_l(x) = a(1-x)^{m-1} f_l(x) = ag_l(x) = a_0^{b_0} a_1^{b_1} \cdots a_{l+m-1}^{b_{l+m-1}}$$

and so  $|wf_l(x)|_{\mathbb{Z} \wr \mathbb{Z}} = \sum_{i=0}^{l+m-1} |b_i| + 2(l+m-1) \approx l$ .

# Description of the Polynomials

- Define

$$f_{m_l-1}(x) = a_0 + a_1x + \cdots + a_{m_l-1}x^{m_l-1}.$$

# Description of the Polynomials

- Define

$$f_{ml-1}(x) = a_0 + a_1x + \cdots + a_{ml-1}x^{ml-1}.$$

- The coefficient  $a_{sl+t}$ , for  $s = 0, 1, \dots, m-1, t = 0, 1, \dots, l-1$  is

$$a_{sl+t} = \sum_{i=0}^s d_i((s-i)l+t+1)^{m-1}.$$



# Description of the Polynomials

- Define

$$f_{ml-1}(x) = a_0 + a_1x + \cdots + a_{ml-1}x^{ml-1}.$$

- The coefficient  $a_{sl+t}$ , for  $s = 0, 1, \dots, m-1, t = 0, 1, \dots, l-1$  is

$$a_{sl+t} = \sum_{i=0}^s d_i((s-i)l+t+1)^{m-1}.$$

- We select  $d_0 = 1$  and  $d_1, \dots, d_{m-1}$  so that

$$d_1(m-1)^p + \cdots + d_{m-1}(1)^p = -m^p$$

for each  $p = 1, \dots, m-1$ .

# Description of the Polynomials

- The idea is based on the case of  $m = 2$ , where it suffices to take  $f_l(x) = 1 + 2x + 3x^2 + \cdots + lx^{l-1}$ .

# Description of the Polynomials

- The idea is based on the case of  $m = 2$ , where it suffices to take  $f_l(x) = 1 + 2x + 3x^2 + \cdots + lx^{l-1}$ .
- In general, we need to smooth out the coefficients so that  $g_l(x)$  will have the required properties.

# Description of the Polynomials

- The idea is based on the case of  $m = 2$ , where it suffices to take  $f_l(x) = 1 + 2x + 3x^2 + \cdots + lx^{l-1}$ .
- In general, we need to smooth out the coefficients so that  $g_l(x)$  will have the required properties.
- Start in the natural way with

$$a_0 = 1, a_1 = 2^{m-1}, a_2 = 3^{m-1}, \dots, a_{l-1} = l^{m-1}.$$

# Description of the Polynomials

- The idea is based on the case of  $m = 2$ , where it suffices to take  $f_l(x) = 1 + 2x + 3x^2 + \cdots + lx^{l-1}$ .
- In general, we need to smooth out the coefficients so that  $g_l(x)$  will have the required properties.
- Start in the natural way with

$$a_0 = 1, a_1 = 2^{m-1}, a_2 = 3^{m-1}, \dots, a_{l-1} = l^{m-1}.$$

- Then for  $d_1 < 0$  we continue by

$$a_l = (l+1)^{m-1} + d_1, \dots, a_{2l-1} = (2l)^{m-1} + d_1 l^{m-1}.$$

# Description of the Polynomials

- The idea is based on the case of  $m = 2$ , where it suffices to take  $f_l(x) = 1 + 2x + 3x^2 + \cdots + lx^{l-1}$ .
- In general, we need to smooth out the coefficients so that  $g_l(x)$  will have the required properties.
- Start in the natural way with

$$a_0 = 1, a_1 = 2^{m-1}, a_2 = 3^{m-1}, \dots, a_{l-1} = l^{m-1}.$$

- Then for  $d_1 < 0$  we continue by

$$a_l = (l+1)^{m-1} + d_1, \dots, a_{2l-1} = (2l)^{m-1} + d_1 l^{m-1}.$$

- Continue for  $d_2 > 0$  with  $a_{2l} = (2l+1)^{m-1} + d_1(l+1)^{m-1} + d_2$  and so on. If we follow the given formula, it all works out.

Describing 2-generated distorted subgroups in  $\mathbb{Z} \text{ wr } \mathbb{Z}$ 

- We can explicitly describe the distorted 2-generated subgroups  $H$  having distortion  $\Delta_H^{\mathbb{Z} \text{ wr } \mathbb{Z}}(I) \asymp I^m$ .

Describing 2-generated distorted subgroups in  $\mathbb{Z} \text{ wr } \mathbb{Z}$ 

- We can explicitly describe the distorted 2-generated subgroups  $H$  having distortion  $\Delta_H^{\mathbb{Z} \text{ wr } \mathbb{Z}}(I) \asymp I^m$ .
- Let  $m \in \mathbb{N}$ . Let  $H = \langle b, w \rangle$  where

$$w = a(1 - x)^{m-1}.$$



Describing 2-generated distorted subgroups in  $\mathbb{Z} \text{ wr } \mathbb{Z}$ 

- We can explicitly describe the distorted 2-generated subgroups  $H$  having distortion  $\Delta_H^{\mathbb{Z} \text{ wr } \mathbb{Z}}(I) \asymp I^m$ .
- Let  $m \in \mathbb{N}$ . Let  $H = \langle b, w \rangle$  where

$$w = a(1 - x)^{m-1}.$$

- The subgroup

$$H = \langle b, [\dots [a, b], b], \dots, b \rangle,$$

where the commutator is  $(m - 1)$ -fold.

Describing 2-generated distorted subgroups in  $\mathbb{Z} \text{ wr } \mathbb{Z}$ 

- We can explicitly describe the distorted 2-generated subgroups  $H$  having distortion  $\Delta_H^{\mathbb{Z} \text{ wr } \mathbb{Z}}(I) \asymp I^m$ .
- Let  $m \in \mathbb{N}$ . Let  $H = \langle b, w \rangle$  where

$$w = a(1 - x)^{m-1}.$$

- The subgroup

$$H = \langle b, [\dots [a, b], b], \dots, b \rangle,$$

where the commutator is  $(m - 1)$ -fold.

- For example, in the case  $m = 2$  we have that

$$a(1 - x) = a_0 a_1^{-1} = a b^{-1} a^{-1} b = [a, b]^{-1}.$$